Area of a Triangle (Trigonometry)

(\

REVISE THIS
TOPIC
1 Work out the area of the triangle.
Not drawn
6.cm accurately
83°
11lcm [2 marks]

‘/2_ X 6 x llx sin(33)

Answer 3 2 8 cm2

2 Work out the area of the triangle.
b 4.4 cm
Not drawn
3.8cm accurately

[2 marks]

2 ox 2% x b x sin(42)

Answer 5 . g cm?
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Work out the area of the triangle.

9cm @ Not drawn

accurately

[2 marks]

A %A% 9 x sin(162)

Answer l 2 5 cm?

Work out the area of the triangle.

10 cm @

Not drawn
accurately
30°

14 cm
[3 marks]

5 x 10 x 1% x sin (36)

= 4 x 0x kx4
= SxF

Answer 3 5 cm2
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5 Work out the area of the triangle.

Give your answer in the form kv/3 , where k is an integer.

®)

Not drawn
4 cm accurately
13 cm @
[3 marks]
| .
7 X 4 % \3 ks [ 60)
I
-1 x b x 3 x 2
PA
- S22
4-
Answer l 3 \I—i cm?
6 Work out the area of the parallelogram.
20 cm
R . 65°
S Not drawn
8("“ . . 8cm accurately
6S° ..
20om [3 marks]

Vix L0 x € xsin(69) = 32.S 0462210

F1-So0462216 % 2 = |4:5- 00942459

Answer \ L\‘ S ' O

cm?2 11
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7 The area of triangle ABC is 350 cm?

>~ V
A Not drawn
19.cm accurately

Work out the length of AB. [3 marks]

w Sx A% X xsin@0 = 250 sz

\q SN (’!)9\ x.~ +00
L = +00
[4 sin(3%)

Answer 5 C( ' 8 cm

8 The area of triangle ABC is 23 cm?
B
9cm Not drawn
accurately
A X C
15cm
Work out the size of the acute angle, BAC. [3 marks]

2 (X AKIE X SinGd = 1D Y
> [2S sinly = 46

Sink) = _(_"'.é_.
\ S
L4k
X = S'Ir\l(\’.{S

Answer l Ol -9
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9 ABC is a triangle.

C
20cm Not drawn
accurately
88°
A B
2
AB:BC=8:5
Work out the area of triangle ABC. [3 marks]
2054
qxw=232

1 X 20 X 32 X sin(8R)
Answer ’L\q % cm?

10 ABC is a triangle.
A
Not drawn
& accurately
N0\ c
B Aoc

AB:BC=1:3
The area of triangle ABC is 123 cm?
Work out the length of AB. [3 marks]

“gl/zx XX 3x xSin(104) =122 Y2

Lxsin (10%) = 240
xr = 46
3 sin (104)

/ L4b
X = Isinlow)
Answer Ol ' l cm
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11 OABC is a sector with centre O. A
Not drawn
0< 80° B accurately
4cm
C
Calculate the area of the shaded reglon [4 marks]
Area e‘g e Jor = o x T x 4"
= (V- \roloF2y

P\f&a 91( {/ﬁq@& = |/7, x Bx 4 x SM(?O)
= F-8FF46202¢

- \F . = 383, ..
Answer ' g cm?
12 AOB is an isosceles triangle with OA = OB

COD is a sector, centre O.

Work out the area of the shaded region. [4 marks]

Area oX‘ En av\ﬂ\e, = x \\X11x sin(86)
60 15262504

Area o(( seor = —g,oxﬂ)X%

= U%-073)4blo]
00-3S. .. — 4R-03 .
Answer \fL 'L cm?
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13 ABCDEF is a triangular prism.

E Not drawn
accurately

A C 12 cm

The prism has a mass of 0.5 kg.
Calculate the density of the prism in g/cm?3
Give your answer to 3 significant figures.

Area e’g Lriangle = Y2 »3x 18 x sin(119)
= k9. 238386289
\| dm & le ofsm= YA 3. x 1L
= 59200 63SH
'Dev\gﬁ»j = S00q

S92-0 om®

[5 marks]

- O-?%S%sszz%&/cﬁ

Answer O g L+ 5

g/cm?
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14 ABCO is a sector with centre O.

Not drawn
accurately
3? .ouool-rgq'
The perimeter of triangle AOC is 30 cm.
Calculate the shaded area. [6 marks]
0- 1w =1b \6= 1=
2 P B
Cost)= R + 8- 1Y
Zx8xQ

coyx)= - 0-5212S
x = Cos'(-0-53125)
> = 122-08996513

f\fea e& J(zﬁClV\a]ﬂ = \/7, X X X X Sin (‘22'0--)

= A \0'%34)
krea v& wechor = %"xmn ]*

= 13183402716
-+ \32-3%F.. = 189-9%wazl

Answer \ @)O ’ O

cm?2
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